1. Inan electrlc c1rcu1t ” the two

terminals of the electrlc cell are
(a) connected directly to each othér

(b) connected to the filament of the"

bulb
(c) connected to the two terminals
of the bulb

(d) All the above are correct

The brlghtnes,s, of a bulb does not

depend on 3

(a) the érrangement of the
batteriesin a circuit.

(b) A@ﬂmber of batteries used in
‘acircuit.

(c) thelength of the wire used in a
circuit.

(d) the number of bulbs used in a
circuit.

Max. Marks : 50
Time : 2 Hours

William places Magnet R on a
stand and then slowly places Object
Q on top of it. He notices that Object
Q does not stick to Magnet R but
instead floats above it.

) Object Q

Magnet R

Which of the following statements
best explains why Object Q does not
stick to Magnet R ?
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T PHYSICS
1. (¢)In an electric circuit, the two
terminals of the electric cell are

4. (a) Distance #tsﬁ%;d x time
40kmph x%i% hr=6.67km

always connected to the two 5. (c) Simcesize of earth isbigger than

terminals of the bulb. | that of moon. So the region of

2. (¢ Mu!tiplt.e batteries arranged in E%:Ldgﬁléngg%ﬁ}gbz%l lsaﬁ?ge

series increase the current darkness (penumbral)xi;jnd of

flowing through the circuit. eclipse is called total lunar
Multiple batteries arranged in eclipe. .

6. (a) Sockets are made of electrical

parallel do not increase the conductors while plug tops are

current flowing through'the
circuit. As more batteries are
used, the current will"increase
if the batteried\ate arranged
glow series_and the bulb will
glow brighter, When more bulbs
are arrangéd in series, the
brightness of each bulb
decreasés. Bulbs arranged in
parallel increases the overall
brightness of the circuit.

made of insulators.

7. (b) ‘One touch method’ of preparing

the magnet is shown in the

figure. In this method the pole

produced at the end of the nail,

where the friction starts is same

as the pole of the magnet which
is in contact with nail. Hence
north pole will be produced at A
and south at B.

(¢) When no force acts on a body,

then it will either remain at rest
or move in a straight line.

3. (d) Object Q is a magnet. Object Q
and Magnet R have their like
poles facing each another and
the poles exert a force of

9. (¢) Odometre is the device used to
measure distance in vehicles.

10. (a) When switches X and Y are
closed, the pathway containing
bulb C and switch Z is still open.

repulsion. This force keeps them Thus, electricity will 0 aly flow
apart and Object Q floats above in the closed path containing
Magnet R. bulbs A, B and switch Y.



stitute
s only a little light to pass
ugh. The amount of light
passing through the library
- windows would be reduced and
the library would not be too
bright and glaring. Clear plastic
and wired clear glass would not
cut down the amount of light
entering the library and are not
good choices to wuse as
substitutes. Soft wood is opaque
and does not allow light to pass
through at all. Thus, using soft
wood does not meet the needs of
the library.
12. (d) Time can be expressed only
when there is starting point and

an end point.
13. (¢) Light falling on the tree
changes with time.

14. (a) Cis the positive terminal of the
cell and D is the negative

terminal of the cell,
~ CHEMISTRY
15. (d) The most.amount of water left
in thé container indicates that
th &of evaporation in that
container is the lowest. The rate
of evaporation of water is
affected by the exposed surface
area of the water. Looking at
the containers, container R has
the smallest exposed surface
area followed by container P,
then container Q. This means
that container R has the lowest
rate of evaporation resulting in
the most amount of water left

in the container after t
hours. Container Q has thq

Hints & Explanatig.

largest exposed surface are,
a;ndgi:()uld therefore havﬁ‘&
highest rate of evaporation anq
the least amount of water lef
behind after two hours. In othey
words, when the expogeq
surface area is bigger, the rate
of evaporation is greater.

16. (d)Shiny appearance is the

appropriate termfor lusture.

17. (d) The body of the'pot should be

made of a 'good conductor of
heat such-as a metal. However,
the. chosen metal should not
rust easily. Therefore, stainless
steel is chosen to make the body
of the pot. The handles of the
pot should be made of a good
insulator of heat so that it does
not get too hot to hold the pot.
A suitable material to make the
handles would be plastic. The
lid should be made of a
transparent material as the
contents of the pot must be able
to be seen. This transparent
material needs to have a high
melting point to withstand the
heat from cooking. Therefore,
glass is a suitable material.

18. (b) We use a hose to bring water

from a tap to the place where
water is needed. A hose needé"
to be long to reach places that
are too far from the top. Fo‘;_‘-:
storage purposes, a hose neeé>
to be flexible so that it canbe
coiled up and would then on¥
occupy a small space in storde™
Since the hose transp
water, it needs to be waterpr®™




% Explanations
A ductile materia]
can be stretched gz long way

before it breaks or fract
1 Tean ures, [
will also retain to shape t?hat

IS one that

i

a you stretch it to. In the above

case, the rubber band returns
to the original shape when the
weight is removed. A rubber
band is therefore not ductile
buj: elastic. Elasticity is the
ab;hty gf a material to return
toits original shape after it has
been stretched. Malleability is
the ability of a material to be
hammered into sheets without
breaking. Durability is the
ability of a material to
withstand wear and tear or
decay.

20. (a) Sieving is done to separate
components of different sizes:
Different sized sieves are
available. .

21. (d) In both types of changes (i.e.
reversible change and physical
change) we can get bhack the
original substanee by reversing

the conditions.

22. (a) It takes up-nearly four-fifth of
the spacethat air fills.

23. (b) Powerloom

24. (a) Formation of water by reaction
of hydrogen and oxygen 1s a
‘ehemical change. Change of
liquid water to water vapour is
a physical change.

25. (d)Anaerobic bacterial digestion of
animal waste and burning of
biogas both are chemical
changes as new products are
formed in both the processes.

26. (a) The process of separating cotton
fibres from the seeds is called

gimtnl;lpg and the maccgilne?is used

or this ose are gins.

27. (d) The prgggs of separation of
gummy skin from jute fibre is
called retting

28. (d) X = evaporation,

Y = condensation
Z = precipitation (rain fall, snow
fall etc.) _

29. (b) Dyeing or bleaching should be
done in the last stage after the
fabrics are made and before the
clothes are‘eut out of it. This is
done to . avoid loss and
inconvenience in handling
materials.

30. (c) X-particles are heavy and Y
particles are light. These can be
removed by using winnowing.
In this process particles being
lighter separated out and
remaining mixture contains X
and Z particles. Z being
magnetic can be separately by
magnetic separation.

31. (b) The label I in the figure

represents a head light, made
of glass.
The label II represents a seat,
which is usually made of
leather, while label ITI is made
of metal.

BIOLOGY

32. (c) The African violet is an
example of a plant that can
reproduce from leaves.

33. (c) Statement (a), (b) and (d) reduce
the burning of fossil fuels to
produce electricity. When there
is less burning, less carbon
dioxide will be produced and this
reduces air pollution. Statement
(c) actually contributes to air

pollution.



s the
waste disposal. But
ng a large amount of

Tt ﬁ - decom

h results in delay in
position process which in
~ turn causes soil pollution.

Ir.(&‘) When we do something we use

~ our hands and legs. During
action, both skeletal and
muscular system function
together in hands or legs.

37. (b) It is not as hard as bones.

38. (a) Stomata are tiny openings
present in leaves for gaseous
exchange

39. (d) Xerocoles are referred as those

animals who are adapted for
desert life. They e¢an survive
lack of water and excessive

heat. -
40. (a) The lan fill 1is the most
popularly used method of waste

sal. This process includes
ying the waste material
2epin soil for decomposition.
41. (¢) Protozoa is a group of
organisms that are motile and
unicellular eukaryotic. They
are not visible with naked eyes

such as — Amoeba and
Plasmodium ete.

N Ju.nk foods eontain
levels of trans fats, g
sugar.

43. (c)

44. (d) Itis called dormancy,

45. (a) The formation of s0il inglyq.
a process in wh Kk breal
into stones,xsms break
gravels, gravels intosilta

into sand. And finally g;
breaks 'into fine particleg
forming soil.

46. (b) Pollen grains are produc_'

+ within anther which is male
part of the flower. Pollen graing
are powdery in structure anﬁf
are of different colour. \

47. (b) Ghee is.the best source of fat,
In our body, the fat is stored
under the skin. This stored fat
is utilized when there is lack of
fat in our food.

48. (a) When we go in desert ares,
generally we find that uriné
shows yellowish colour (due %"
concentration) and the quantty
1s also reduced. "

49. (c) Beetroot is an undergrount

are underground stems.
90. (d) The characteristic featt
living beings are respiré!
reproduction, adaptatio®
excretion ete. 5



